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Tools

 dbloc2, genloc, locsat, ...

* modifications to existing tools?

* missing tools?



Existing tool wishlist
e genloc
— calculate residuals for non-defining arrivals

— assoc.wgt: normalize

e dbloc2

— f1x so grassoc works, need grid locations

— assoc button, pull-down menu: one of the
options doesn’t work

— options to:
e use stn picks within xxx distance
* use closest x stn picks

« calculate residuals only for stns beyond these
distances



 General

— Define subregions by lat & lon, rather than by
specifying stns



